administ

onn=335
11i=336
sd=307¢

uc=337

sr=343
ntb=344
uhs =345
fro=345
agt=347
bop=350

cth=351

srr=356
mtt=357
be=360

nuc=364
rsl=385
cpp=345
c7=40000

lok=770040
ulk=770941

nuf=29
/orocass words
dil=6
prn=7

pra=11

ems=6630
ffs=105

rri=5
npld =5
4f1=7

routine 1§ fab 1970
/process chain
lceore 7
/nunmber of user fialds

/dia word
/process ring
/orocess guaus

/origin of computat

on
/file capability cffse

io
fe

d

.....

/assignment word
/consola mask
/opointer to ID
/reader switch
/ounch switch
Jdrum field table

~loghs



/computation words

guu=1171

bpl=13

Gp2=bpl+]
2p3=bpl+]
flr=ho3+]
imr=ilr+]
sup=imr+!
spa=syup+]
el =spe+]
con=bel +2
prh=con+?

dafine die

terminate

/computation queue
/location of brs
/nrccesd count
/instruction undar hrsakpeint
/illega! instruction return
/itlegzal memory referance return
/superiocr sphere

/fault entry to superior

/break enable

/pointer back to gonsole
/process hoard
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103,
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offset 3

jmp

200

jmp atm /meta instruction

imp
770171
iam
aem

dac new
lac new
xor old
CAIM|
jmp 103
SIT
A«IAI
dac téé
xor old
dac old
AelX
law 37
rir 7s
ril Is
SAA

spi |
jmp .-3
dap vvli
add (e7
A=>AX
Ixr 1 0
A>AX
ior (c7
dac cns
TXP
jmp on
lac té6
cma
aam
and
aam
sad
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gam
dac

(c7
(c7
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(c7
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vyl
204
t6é
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cma
dac
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Ixr
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cns
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[delate
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isp
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dac
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vv]
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mta
lio
mta
jmp
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mta
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Xct
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mta
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die
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and
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TAX
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and
Ixr
dac
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X->AX

dzm
dzm
dap
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xct
lico
law
mta
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XCt
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law
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aam
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1

(250000
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vvl
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(7777
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(c7

i sup /arass its superior
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mta
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tac
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aam
dac
imp
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mta
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mta
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202
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nogc
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/nrocess list (used only for reference

0

dimensicon ppf(7100)
dimension 1if(100) /hardware devica

/programmed quaue list
fra, gaf+]
qgf 1
repeat 3,.+1]
0
/file list
frf, fff /Tree files
fff, repeat 37, .,+]
¢
/sphere list
fre, cof+l
ccf, ] Jadm rt
? /tape controller
repaat 14, ,+1
]

/microtape list
mtu, rapeat 4,0
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t1,
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t3,
t4,
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/set memcry hound
/t5 = new bound
smb g
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ior
TAX
dEm
law
and
Sza
jmp
SiX
idx
sas
imp
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sub
S2G
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dac
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dac
sub
dac
Ixr
iaw
and
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xct
law

AeTA

zdd
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Pdx
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t?
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i 0 /giva
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dac t?2 [raise the bound
isp axm '
Ixr (7 /count zoreas
lie 1 uc
sni
idx t?2
lic i uec+]
sni
idx t2Z
lac t2
sma
imp smd /already have encugh
ixr (c7 sd /count drum fields
sin3, lac 1 0
and (377777
sza |
jimp L +5
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sas (c7 sd+26
imp sm3
imp smy /can't g=t encugh
isp t2
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dac
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dac
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law
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sma
imp ecpn /not stopped
dac t4 /sava PRL kit
tio i prh
TII <
jmp . +10 /hoard is not empt
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lio (c7 frp /check nocl
sni
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TAX
lac t4
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dap i nrn

end (7777

ior {7

{=AX
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dap apx
afto+?, lac (=c7=5d+]
' add afp

rar és

din afn
anx, imp

afn, 2 /afn-afp
dap anx
lac afn
sza |
imp no
ral és
sub (27
sma :
jmp no
add (c7 sd 26
d+p afp
aNX, imp

pofp, 0 /pfp>ofn
dap ppx
nfp+?, lac pfp
' sub | df7
add (nuf-c7?
dac pfn
POX ., ' imp .

pfn, 0 /nfn=pfp
d&p pnx
lac pfn
5z2& |
imp no
sub (nuf
sma
imp no
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ior (c7
-dac pf
pnx, imp .
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lac (c7 sd
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s
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fol

ity

—
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/meta instructions and ivks

/transmitted word = +0 for arg, -0 for arg I,
/20 _LT_<K77 for meta, T_>100 for ivk w/ec? C-=1ist

/T0 for c C=list {(aedr-79000)

atin, iam
zam
TAX
taw { 2
sas ff
imp -1
isp ff
imp .+4
law i1 7
adm ¥f
imp -7
dio tf
TXA

dap enp /set up antered procass
icr (100090

TAX
law 7777
and 1 ¢
ior (c7
dac orc
TAK
sad | prn+]
jmp ill /process has heen acandoned
lac 1 5
dac cmr
icr (c7
TAX
lic | ¢on
law 27
sni
imo enp /sphara Is stoppad
lie (=ac
law 1
xct anp /raad live registars
lac &0
TAAl=
imp agr
andg (77
sas to
imp iv2 /Jivk
mti, law | 29 /meta
add to
TAAXOP
jmp i1l
sub (30
sma
imp itl Jillezal number
lac gmr /focomputation to which meta
for (240000
aan
dac (1 717
lac emr
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/mts 280 -~ raad illezal instruction raturn

m23, Ixr cmp
ac i ilr
ac ac
rem, lico {2c /return, nc skip
law 11
xct enp
law 37
imp enp

.

/mta 201 - set illegal instructicn return

mi1, lxr cmp
dac | Ilr
imp rtm

/mta 20?2 - read memory protacticn return
m2?, Ixr cmp

lac 1 imr

imp m20+7?
/mta 203 - set memory protection return

m?23, ixr cmp
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isp t3
jmp rdl
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imp rd3

/mta 287 = set memory hound

m27, and (870900
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sza |
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imo rtm
idp smb
imp rtm
jmp rts
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